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CLASS -VII MATHS
TIME -90MIN MAX. MARKS:40
SECTION —A (1 X 10 =10)

1. Make the greatest four digit number by using any one digit twice by 3,8,7

(a) 3387 (b) 8378 (c) 8873 (d) 8773
2. How many hundreds are required to make one lakh
(a) 100 (b) 1000 (c) 10 (d) 10000

3. The expanded form for 308927 is

(a) 3000000 + 8000 + 900 + 20 + 7 (b) 300000 + 800 + 90 + 2 + 7
(c) 30000 + 80000 + 9000 + 20 + 7 (d) 300000 + 8000 + 900 + 20 + 7

4. The nearest thousand of 6,72,85,183 is a) 6,72,90,000 b) 6,70,00,000 ¢) 6,72,85,000
d) 6,72,85,100

5. Calculate the product: 2 x 1724 x 50

(a) 3448 (b) 17240 (c) 34480 (d)172400

6. 24 + = 6x8 . (a)24 (b) 48 (c) 20 (d) 72

7. Meena spends Rs. 30 everyday for lunch. The expression for the total amount she spends from Monday
to Friday is

a) 7x30 (b) 5x30 (¢c) 7+30 (d) 5+30
8. Find the value of : 28 -6+ 8 is

(a) 36 b) 22 c) 26 d) 32

9. lakhs make a billion.

(b) 100 (b) 1000 (c) 10000 (d) 10

10. Fill the correct sign. 24—-(6-2) =4 4 +4

(a)+ (b) - (c) + (d) x

SECTION B(2 X 5=10)
11. The estimated population of a town in the year 2024 is 1,06,450. How much more than one lakh is
1,06,450.

12. Write their number names in both the Indian and American systems:.

(a) 48121620 (b) 20022002



13.52,00,00,00,000 =+ 130 = was the weight, in tonnes, of global plastic waste
generated in the year 2021.

14. Use ‘>’ or ‘< or = in each of the following expressions.
a)124+245 [__| 129+245 (b) 213 - 77 (N Y

15. Amu, Charan, Madhu, and John went to a hotel and ordered four dosas. Each dosa cost ¥38, and they wish
to thank the waiter by tipping ¥15. Write an expression describing the total cost.

SECTION C-CBQ QUESTIONS(4 X 5 =20)

16. Rani wondered, “If | could travel 100 kilometers every day, could | reach the Moon in 10 years?” (The distance
between the Earth and the Moon is 3,84,400 km.)

How far would she have travelled in a year? ( 1 year = 365 days )

17. Observe the populations of some Indian cities in the table below.

Rank City Population (2011) Population (2001)
1 Mumbai 1,24,42,373 1,19,78,450

2 New Delhi 1,10,07,835 98,79,172

3 Bengaluru 84,25,970 43,01,326

4 Hyderabad 68,09,970 36,37,483

a) How much is the population of New Delhiin 2011? Approximately, by how much has it increased compared to
20017

b) Which city’s population increased the most between 2001 and 2011?

18. Using the numbers 2, 3 and 5, and the operators ‘+' and ‘—/, and brackets, as necessary, generate expressions
to give four different values as possible.

19. In the Republic Day parade, there are boy scouts and girl guides marching together. The scouts march in 4 rows
with 5 scouts in each row. The guides march in 3 rows with 5 guides in each row.

a) Write the expression for number of scouts and guides marching in parade.
b) How many scouts and guides are marching in this parade?

20. In the Land of Tens, there are special calculators with special buttons. The Thoughtful Thousands only has a
+1000 button. How many times should it be pressed to show:

(a) Fifty three thousand? (b) 90,0007?

(c) One Lakh? (d) ? 153 times




